02-Jun-2008 01:12 PM

ftp://198.145.188.2/std_plan/st55601.dgn [US Customary]

SHEET
STATE PROJECT NUMBER|

34" @ holes for 73" @ x 8" lag screws (typ.).
Predrill 916" @ holes 3%" deep in timber rail

NOTE:
1. Steel for rail posts, base plates, shims, splice sleeves, and

- % .00, .00 oo - - 7;1] F .. _ %0 _, oo N 5 } anchor assembly plates conforms to ASTM A36. Structural
| —— tubing for rails conforms to ASTM A500, Grade B. Paint all

Vo " o " metal components of the bridge rail except post base shims,

¢ tube (typ.) 2"-6 2 spaces at 14 2" 14 anchor assemblies, and rail splice sleeves. Galvanize post
(typ.) =2'-4" (typ.) max. base shims, anchor assemblies, and rail splice sleeves. Hex

” ” ” bolts conform to AASHTO M164 (ASTM A325). Hex coupling
HSS 4" x 4" x % TUBES ELEVATION nuts conform to ASTM A563, Grade C, D, or DH and shall have
a center stop. All other fasteners conform to ASTM A307.

See Special Contract Requirements for painting.

8'-4" max.

, , -4" (typ.) 2. Shop fabricate structural steel. Submit shop drawings to the
¢ Post (typ.) ! 6" x 10" timber rail ¢ Rail splice (typ.) G ™ CO for approval before fabrication. Provide drawings showing
f X rmoer rai ‘ | rail section lengths, splice locations, rail post spacing, and
\ fastener lengths. Welding conforms to ANSI/AASHTO/AWS D1.5.
”””””””””””””””””””””””””””””””””””””” /*;*222; / Use a certified welder. Fabricate all steel before galvanizing
[ 00 or painting.

=== P e S ,
\,L, I jL L O I N 3. Section lengths of HSS 4" x 4" rails shall be continuous
over a minimum of three posts.

4. Provide neat cement grout consisting of a mixture of cement

Apply thin layer of neat cement grout under and water mixed to a smooth viscous paste.

base plate. Shim as needed for vertical alignment
5, Erect the rail parallel to grade.

6. Timber conforms to Subsection 710.08.

A <‘| B<—| p
7" @ holes in tubes (typ.)
except at locations | 34" @ round head square neck bolt
|_> b atgl'ace;qt to rail ;P/;;Cf- AltV . 3 g Wﬁ Post End of timber rail u— & Post with standard washer, lock washer,
rail splice provide 7g" x 17; « - and hex nut, (typ.) except at
16" horizontally slotted holes | 13" ., 3" 8%" ‘ S A ¢ b locations adjacent to rail splice.
~ i ¢ tube and 7, - @%/ &, At rail splice hand tighten bolts to
RS % hole in tube (typ.) ),/ &|  snug position and provide standard
%" O hex bolt & — —+ ‘"T’}*"" 77777 i Eg‘\‘ NI washer w/ hex nut and hex jam nut
w/ hardened 1—‘Moo*ﬁ o d Ll oo | oo || o
steel washers . = = s P e
(2) and hex nut o~ Lo N /O 7777777777777777777777777 SECTION C-C
. HSS4"x4" A 3\3 %" @ holes ;
D N x ¥4" tube (typ.) ' in timber rail (typ.) | E .
" i ! : Q‘:‘
2" % @hO/e n tubES (typ-) ‘ 2 - 7/g"@hex bo/ts W/zng : C (\li
™ plate washer and hardened washer I
VIEW A-A | o ?% fn
i N el ==
, TR ]
9” ] =
n n n N
5 5 #4 bars Anchor assembly 17" cz'o u€7 bod Z‘;o /%e?g/p ) ﬁT
6" 6" E
B VIEW D-D SECTION E-E
%" @ x 8" lag screws (typ.)
- ¥ . LA ol | A .- W __ U.S. DEPARTMENT OF TRANSPORTATION
\ i FEOFEDERAL LANDS HIGHWAY
TYPICAL SECTION @ POST —— S T
CAL SECTION @ POS { ffffffffffffffffffffffffff S U.S. CUSTOMARY STANDARD
TUBULAR STEEL-BACKED
TIMBER BRIDGE RAIL
PLAN VIEW @ POST Sheet 1 of 2
NO SCALE STANDARD APPROVED FOR USE --/---- STANDARD
REVISDEZ:H: 5/2008 556-1




02-Jun-2008 01:13 PM

ftp://198.145.188.2/std_plan/st55601.dgn [US Customary]

78" plate
5. =
3/5" C‘)
— — o &
¢ Post and / |
base plate O
Q 1 " X 1_;/2" .
slotted holes (typ.) 3% s%" 13,7
™~
101/4 "
BASE PLATE DETAIL
. 19/16" 5;/8" 19/16"
“?E'l | ¢ 44" x 2%" x 8%" plate
L f and 1%¢" @ holes (typ.)
@2 I
S
| =
Ol 10
N f
ET 2;/2"
¢ 4" x 2%" x 9" plate
PLAN

Top

of wall x

tack
(typ.)

"

A

2 - 73" @ hex bolts

—

ELEVATION

MK Hex coupling nut

with center stop
for 73" @ bolts (typ.)

1211

B

ANCHOR ASSEMBLY

9 /]

10%" ~
- " Q
\l ? S
™~ =
5N
[ ‘
—
T 15" plate
r ,ZB

1_;/2"
S

RAIL POST BASE SHIM

24"

¢ sleeve X
B G

Drill & tap sleeve

6 "

for %" bolts (typ.)
¢ tube

4" rail
opening (typ.)

STATE

SHEET

PROJECT NUMBER|

Fabricate rail splice sleeve

I
and sleeve \&% P = el a

from %" plate \m

/@éty"'

[

%" & hex bolt with hardened
washer. Provide %" @ holes in tube.

- A il !
%" %"
1%" 8%" x %16"
¢ rail splice J stotin 'r:il
RAIL SPLICE DETAIL

¢ 34" x 1%" horizontally
slotted holes in

/ W 6" x 1%" rail post

post flange (typ.)
. } 13/4 "
&l -
7 5 T ]
't g +-2 o
¥ |
—|t- o !
1\1
E i
R 1\1
|
;
iii
[ ] I m ]
See Base Plate Detail / |
POST ASSEMBLY

Post side
of tube

SECTION A-A

Grind all edges to
assure slip fit after
galvanizing

Size sleeve to provide
slip fit after galvanizing

SLEEVE

14" plate
1%¢6" @ hole

2 ”

PLATE WASHER

NO SCALE

U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
FEDERAL LANDS HIGHWAY

U.S. CUSTOMARY STANDARD
TUBULAR STEEL-BACKED

TIMBER BRIDGE RAIL
Sheet 2 of 2

STANDARD APPROVED FOR USE --/----

STANDARD

REVISED:

DRAFT:  5/2008

556-1




02-Jun-2008 02:18 PM

ftp://198.145.188.2/std_plan/st55601.dgn [Metric]

19 I holes for M16 x 200 lag screws (typ.)

Predrill 9 @ holes 90 deep in timber rail

oo ° oo o oo L co ° o o > o)

_ (T;ib:f;}tf:’,’0;6:7;7::’f;}"f:17;7;7;717;1’1{’T;f:i]]CT;f’;6;5f;;if7;Ti’d*;f:f;‘;fif;f:; 7777777 B
R ¢ tube (typ.) 745 2 spaces at 350 745 350
(typ.) = 700 (typ.) max.

2540 max.

HSS 102 x 102 x 6.4 mm TUBES ELEVATION

¢ Post (typ.)
\ f 150 x 250 timber rail

¢ Rail splice (typ.)

~

700 (typ.)

A <—| B <‘| 22 7 holes in tubes (typ.)

except at locations
|—> D adjacent to rail splice. At
rail splice provide 22 x 38
410 horizontally slotted holes

M16 hex bolt
w/ hardened
steel washers
(2) and hex nut

HSS 102 x 102
x 6.4 tube (typ.)

685

50

20 @ hole in tubes (typ.)

Apply thin layer of neat cement grout under
base plate. Shim as needed for vertical alignment

BRIDGE RAIL ELEVATION

£ Fost ] 7 ‘_/i Post
75 225 b/ End of timber rail
T C
4 ¢ tube and 20 mm %R 220N 5 |—>

£
7 ]

VIEW A-A

hole in tube (typ.) |

22 @ holes '
in timber rail (typ.) l‘

2 - M22 hex bolts w/ 50 & lw
plate washer and hardened washer

VI/SUSYS

s

TYPICAL SECTION @ POST

225
\n \n #13 bars
N N
150 150

Anchor assembly

PLAN VIEW @ POST

SHEET
STATE PROJECT NUMBER

NOTE:

1. Steel for rail posts, base plates, shims, splice sleeves, and
anchor assembly plates conforms to ASTM A36. Structural
tubing for rails conforms to ASTM A500, Grade B. Paint all
metal components of the bridge rail except post base shims,
anchor assemblies, and rail splice sleeves. Galvanize post
base shims, anchor assemblies, and rail splice sleeves. Hex
bolts conform to AASHTO M164 (ASTM A325). Hex coupling
nuts conform to ASTM A563, Grade C, D, or DH and shall have
a center stop. All other fasteners conform to ASTM A307.

See Special Contract Requirements for painting.

2. Shop fabricate structural steel. Submit shop drawings to the
CO for approval before fabrication. Provide drawings showing
rail section lengths, splice locations, rail post spacing, and
fastener lengths. Welding conforms to ANSI/AASHTO/AWS D1.5.
Use a certified welder. Fabricate all steel before galvanizing
or painting.

3. Section lengths of HSS 102 x 102 rails shall be continuous
over a minimum of three posts.

4. Provide neat cement grout consisting of a mixture of cement
and water mixed to a smooth viscous paste.

5. Erect the rail parallel to grade.
6. Timber conforms to Subsection 710.08.

7. Dimensions without units are millimeters.

M20 round head square neck bolt
with standard washer, lock washer,
and hex nut, (typ.) except at
locations adjacent to rail splice.

At rail splice hand tighten bolts to
snug position and provide standard

&

N
80 85|

Q[ Wwasher w/ hex nut and hex jam nut
SECTION C-C
|—> E
8
© B S
E=|
40 50 @ x 20 deep %T

> counterbore (typ.)
|—> E

VIEW D-D SECTION E-E

M16 x 200 lag screw (typ.)

U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
FEDERAL LANDS HIGHWAY

METRIC STANDARD
TUBULAR STEEL-BACKED

TIMBER BRIDGE RAIL
Sheet 1 of 2

NO SCALE STANDARD APPROVED FOR USE -—/-—- STANDARD
REVISED:
DRAFT:  5/2008 M556-1




02-Jun-2008 01:00 PM

ftp://198.145.188.2/std_plan/st55601.dgn [Metric]

22 mm plate

M

¢ post and

150
230

T
_

\
O

base plate

g
¢ 25x 38

slotted holes (typ.)

85 130

260

45

40
—

BASE PLATE DETAIL

40
—

40
<70

40
A

¢ 6.4 x 65 x 210 plate
and 24 @ holes (typ.)

e

150

gr

¢ 6.4 x 65 x 230 plate

PLAN

Top of wall \

tack
% (typ.) DA Hex coupling nut
~ with center stop
‘ for M22 bolts (typ.) o
: A
2 - M22 hex bolts
D
ELEVATION
ANCHOR ASSEMBLY

230

260 ~
225 N
o N\
vl o
| N
fffff — 600
S — 3 mm plate ¢ sleeve \‘
,ZB e I - T
%T Drill & tap sleeve 75| 150 150
for M1 / 3 |
or M10 bolts (typ.) 20 rail ] P
¢ tube opening (typ.) !
d sl |
RAIL POST BASE SHIM and sieeve \\ s e 7
— A —a - — o E=——
::i:: "
M10 hex bolt with hardened 10 30
washer. Provide 14 @ holes in tube
40 220 x 14
slot in rail
¢ rail splice J
A
RAIL SPLICE DETAIL

10
ke

SHEET

¢ 20 x 32 horizontally

slotted holes in

post flange (typ.)
} L5
|

120 |50

670

See Base Plate Detail /

POST ASSEMBLY

“‘ / W150 x 29.8 rail post

STATE PROJECT NUMBER|
NOTE:
1. Dimensions without units are millimeters.
Fabricate rail splice sleeve
from 6.4 mm plate "
Ua yp.
} s
; - . Grind all edges to
P ?it g’ de assure slip fit after
ortube galvanizing
SECTION A-A

Size sleeve to provide
slip fit after galvanizing

SLEEVE

4.8 mm plate
24 @ hole

50

PLATE WASHER

U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
FEDERAL LANDS HIGHWAY

METRIC STANDARD
TUBULAR STEEL-BACKED

TIMBER BRIDGE RAIL
Sheet 2 of 2

STANDARD APPROVED FOR USE --/----

NO SCALE STANDARD

M556-1

REVISED:

DRAFT:  5/2008




	FLH Standard Drawings
	(M)556-1: Tubular Steel-backed Timber Bridge Rail
	Metric
	Architectural
	Sheet 2 of 2

	Traditional
	Sheet 2 of 2

	WFLHD
	Sheet 2 of 2


	US Customary
	Architectural
	Sheet 2 of 2

	Traditional
	Sheet 2 of 2

	WFLHD
	Sheet 2 of 2





	556-1t1: 
	556-1a1: 
	556-1w1: 
	Region: 
	State: 
	Project: 
	556-1t2: 
	Sheets: 
	556-1a2: 
	State1: 
	Project1: 
	556-1w2: 
	State2: 
	Project2: 
	NPS: 
	M556-1t1: 
	M556-1a1: 
	M556-1w1: 
	M556-1t2: 
	M556-1a2: 
	M556-1w2: 


